# NONEXISTENCE RESULTS OF POSITIVE ENTIRE SOLUTIONS FOR QUASILINEAR ELLIPTIC INEQUALITIES 

Dedicated to Professor Junji Kato on his 60th birthday

YŪKI NAITO AND HIROYUKI USAMI

AbSTRACT. This paper treats the quasilinear elliptic inequality

$$
\operatorname{div}\left(|D u|^{m-2} D u\right) \geq p(x) u^{\sigma}, \quad x \in \mathbb{R}^{N}
$$

where $N \geq 2, m>1, \sigma>m-1$, and $p: \mathbb{R}^{N} \rightarrow(0, \infty)$ is continuous. Sufficient conditions are given for this inequality to have no positive entire solutions. When $p$ has radial symmetry, the existence of positive entire solutions can be characterized by our results and some known results.

1. Introduction and the statement of results. This paper is concerned with the quasilinear elliptic inequalities of the form

$$
\begin{equation*}
L_{m} u \equiv \operatorname{div}\left(|D u|^{m-2} D u\right) \geq p(x) u^{\sigma}, \quad x \in \mathbb{R}^{N} \tag{1.1}
\end{equation*}
$$

where $N \geq 2, m>1, \sigma>m-1$, and $p: \mathbb{R}^{N} \rightarrow(0, \infty)$ is continuous. When $m=2, L_{m}$ reduces to the usual Laplacian; when $m \neq 2, L_{m}$ is referred to as the degenerate Laplacian. A positive entire solution of (1.1) is defined to be a positive function $u \in C^{1}\left(\mathbb{R}^{N}\right)$ such that $|D u|^{m-2} D u \in C^{1}\left(\mathbb{R}^{N}\right)$ and satisfies (1.1) at each $x \in \mathbb{R}^{N}$.

The importance of such inequalities in mathematical analysis has been widely recognized in recent years. Interesting existence theorems and asymptotic theory for positive entire solutions of such inequalities have been obtained by many authors; see, e.g., [4, 5, $7,8,9,12,14]$. Among such results, we recall those obtained by [4]. The main existence theorem in [4] may be described roughly as follows:

Theorem A [4, Theorems 2.1, 3.1, AND 3.2]. Let p be radially symmetric. Then (1.1) has a positive radial entire solution if, for some $\varepsilon>0$

$$
\begin{cases}\lim \sup _{|x| \rightarrow \infty}|x|^{m+\varepsilon} p(x)<\infty & \text { in the case } m<N  \tag{1.2}\\ {\lim \sup _{|x| \rightarrow \infty}|x|^{m}(\log |x|)^{\sigma+1+\varepsilon} p(x)<\infty} \text { in the case } m=N \\ \lim \sup _{|x| \rightarrow \infty}|x|^{N+\frac{\sigma(m-N)}{m-1}+\varepsilon} p(x)<\infty & \text { in the case } m>N\end{cases}
$$

Actually, in [4] we can find more than mentioned above. It is therefore natural to ask whether or not (1.1) does possess any positive entire solutions if (1.2) is violated. Our

[^0]main objective is to give partial answers to this question. In fact, we can show that the decaying order imposed on $p(x)$ in Theorem A is optimal in some sense; that is, if $p(x)$ decays more slowly than indicated in Theorem A, (1.1) does not possess positive entire solutions.

The first result is as follows:
THEOREM 1. Let $m>1$ be arbitrary. If

$$
\begin{equation*}
\liminf _{|x| \rightarrow \infty}|x|^{m} p(x)>0 \tag{1.3}
\end{equation*}
$$

then, inequality (1.1) has no positive entire solutions.
In the case $m<N$, Theorem A shows the sharpness of Theorem 1. On the other hand, in case $m \geq N$, one can improve Theorem 1 considerably as seen below:

Theorem 2. Let $m>N$. If

$$
\begin{equation*}
\liminf _{|x| \rightarrow \infty}|x|^{N+\frac{\sigma(m-N)}{m-1}} p(x)>0 \tag{1.4}
\end{equation*}
$$

then, inequality (1.1) has no positive entire solutions.
Theorem 3. Let $m=N$. If

$$
\begin{equation*}
\liminf _{|x| \rightarrow \infty}|x|^{m}(\log |x|)^{\sigma+1} p(x)>0 \tag{1.5}
\end{equation*}
$$

then, inequality (1.1) has no positive entire solutions.
The paper is organized as follows. In Section 2 an important lemma (Lemma 2.1) is stated and proved. By means of this lemma we can reduce the multi-dimensional problem under study to a one-dimensional problem. The proofs of Theorems 1, 2, and 3 are given in Sections 3, 4, and 5, respectively.

The problem of nonexistence of positive entire solutions has been studied in various situations. For the case $m=2$, we refer to $[2,3,6,10,13,16]$ and, for the case $m \neq 2$, we refer to $[1,11,12]$.
2. A comparison lemma. Consider the ordinary differential equation

$$
\begin{equation*}
\left(r^{N-1}\left|v^{\prime}\right|^{m-2} v^{\prime}\right)^{\prime}=r^{N-1} q(r) v^{\sigma}, \quad r>0 \tag{2.1}
\end{equation*}
$$

where $q:[0, \infty) \longrightarrow(0, \infty)$ is a continuous function satisfying

$$
\begin{equation*}
p(x) \geq q(|x|), \quad x \in \mathbb{R}^{N} . \tag{2.2}
\end{equation*}
$$

We define an entire solution of (2.1) by a solution $v$ of $(2.1)$ with $v^{\prime}(0)=0$ which exists on the interval $[0, \infty)$. It should be noted that the leading term of (2.1) is the so-called polar form of $L_{m}$.

Let $v$ be a solution of (2.1) with $v^{\prime}(0)=0$. Suppose that $[0, R)(R \leq \infty)$ be the maximal interval on which $v$ is defined and remains positive. Then we have $v^{\prime}(r)>0$ for $0<r<R$. In fact, an integration of (2.1) over [0, r], $r<R$, yields

$$
\left|v^{\prime}(r)\right|^{m-2} v^{\prime}(r)=r^{1-N} \int_{0}^{r} s^{N-1} q(s) v^{\sigma}(s) d s, \quad 0<r<R
$$

Hence $v^{\prime}(r)>0$ for $0<r<R$. Moreover we know from this fact that, if $R<\infty$, then $v$ must blow up at $R$ : $v(R-0)=\infty$.

It is worthwhile to note that a positive entire solution $v$ of (2.1) satisfies

$$
\begin{equation*}
v^{\prime}(r)=\left(r^{1-N} \int_{0}^{r} s^{N-1} q(s) v^{\sigma}(s) d s\right)^{\frac{1}{m-1}}, \quad r \geq 0 \tag{2.3}
\end{equation*}
$$

and

$$
\begin{equation*}
v(r)=v(0)+\int_{0}^{r}\left(s^{1-N} \int_{0}^{s} t^{N-1} q(t) v^{\sigma}(t) d t\right)^{\frac{1}{m-1}} d s, \quad r \geq 0 \tag{2.4}
\end{equation*}
$$

The following lemma plays an important role in proving our results.
LEMMA 2.1. If inequality (1.1) has a positive entire solution $u$, then there exists a positive entire solution $v$ of (2.1).

To prove Lemma 2.1, we prepare the following lemma.
LEMMA 2.2. Let $\Omega$ be a bounded domain in $\mathbb{R}^{N}$ with smooth boundary $\partial \Omega$. Let u be a positive entire solution of (1.1) and let $v \in C(\bar{\Omega}) \cap C^{1}(\Omega)$ be a positive function satisfying $|D v|^{m-2} D v \in C^{1}(\Omega)$. If $L_{m} v \leq p(x) v^{\sigma}$ in $\Omega$ and $u \leq v$ on $\partial \Omega$, then $u \leq v$ in $\Omega$.

REMARK. Lemma 2.2 was also obtained in [1, 15], although we give a proof for the sake of completeness.

Proof. Let $\phi: \mathbb{R} \rightarrow[0, \infty)$ be a $C^{1}$-function which vanishes on $(-\infty, 0]$ and is strictly increasing on $(0, \infty)$. For example, $\phi(u)=0$ for $u \leq 0$ and $\phi(u)=u^{2}$ for $u>0$. We have

$$
\left(L_{m} u-L_{m} v\right) \phi(u-v) \geq p(x)\left(u^{\sigma}-v^{\sigma}\right) \phi(u-v) \quad \text { in } \Omega .
$$

As a consequence of the divergence theorem, it follows that
$-\int_{\Omega}\left(|D u|^{m-2} D u-|D v|^{m-2} D v\right) \cdot(D u-D v) \phi^{\prime}(u-v) d x \geq \int_{\Omega} p(x)\left(u^{\sigma}-v^{\sigma}\right) \phi(u-v) d x$.
Since $\left(|D u|^{m-2} D u-|D v|^{m-2} D v\right) \cdot(D u-D v) \geq 0$ in $\Omega$, we have

$$
\int_{\Omega} p(x)\left(u^{\sigma}-v^{\sigma}\right) \phi(u-v) d x \leq 0 .
$$

Thus, we conclude that $u \leq v$ in $\Omega$.

Proof of Lemma 2.1. Assume to the contrary that no such function $v$ exists. Take $a>0$ such that $a<u(0)$. Let $v$ be a solution of (2.1) with initial values $v(0)=a$ and $v^{\prime}(0)=0$. Since $v$ can not be continued to $\infty$, the maximal interval of existence of $v$ is of the form $[0, R), R<\infty$, and we have $v^{\prime}(r)>0$ for $0<r<R$ and $v$ blows up at $R$ : $v(R-0)=\infty$. We therefore can find an $R_{1} \in(0, R)$ so that

$$
v\left(R_{1}\right) \geq \max \left\{u(x):|x|=R_{1}\right\} .
$$

Define $\Omega=\left\{x \in \mathbb{R}^{N}:|x|<R_{1}\right\}$. Then $L_{m} v \leq p(x) v^{\sigma}$ in $\Omega$ and $v \geq u$ on $\partial \Omega$. By Lemma 2.2,u $u v$ in $\Omega$, which contradicts $v(0)=a<u(0)$. Thus, the proof is complete.
3. Proof of Theorem 1. In this section Theorem 1 is proved. Assume that (1.3) holds. Then there is a constant $c>0$ such that

$$
p(x) \geq \frac{c}{1+|x|^{m}}, \quad x \in \mathbb{R}^{N}
$$

Putting

$$
q(r)=\frac{c}{1+r^{m}}, \quad r \geq 0
$$

we find that $q$ satisfies (2.2), and

$$
\begin{equation*}
q(r) \geq C_{0} r^{-m}, \quad r \geq R_{0} \tag{3.1}
\end{equation*}
$$

for some $C_{0}, R_{0}>0$.
Proof of Theorem 1. Suppose to the contrary that (1.1) admits a positive entire solution. Then, (2.1) has a positive entire solution $v(r)$ by Lemma 2.1. First we show that

$$
\begin{equation*}
\lim _{r \rightarrow \infty} v(r)=\infty \tag{3.2}
\end{equation*}
$$

Since (2.4) holds and $v$ is increasing, it follows that

$$
v(r) \geq v(0)+v(0)^{\frac{\sigma}{m-1}} \int_{0}^{r}\left(s^{1-N} \int_{0}^{s} t^{N-1} q(t) d t\right)^{\frac{1}{m-1}} d s
$$

From (3.1), we observe that

$$
\lim _{r \rightarrow \infty} \int_{0}^{r}\left(s^{1-N} \int_{0}^{s} t^{N-1} q(t) d t\right)^{\frac{1}{m-1}} d s=\infty
$$

Thus we obtain (3.2).
Integrating (2.1) twice over $[R, r], R \geq R_{0}$, we see that

$$
\begin{equation*}
v(r) \geq v(R)+\int_{R}^{r}\left(\int_{R}^{s}\left(\frac{t}{s}\right)^{N-1} q(t) v^{\sigma}(t) d t\right)^{\frac{1}{m-1}} d s, \quad r \geq R \geq R_{0} \tag{3.3}
\end{equation*}
$$

Using (3.1) and the inequality

$$
\left(\frac{t}{s}\right)^{N-1} \geq \frac{1}{2^{N-1}} \quad \text { for } R \leq t \leq s \leq 2 R
$$

in (3.3), we have

$$
\begin{equation*}
v(r) \geq v(R)+C_{1} \int_{R}^{r}\left(\int_{R}^{s} t^{-m} v^{\sigma}(t) d t\right)^{\frac{1}{m-1}} d s, \quad R \leq r \leq 2 R \tag{3.4}
\end{equation*}
$$

where $C_{1}=\left(C_{0} / 2^{(N-1)}\right)^{1 /(m-1)}$. Now let us define the function $w(r)$ on $R \leq r \leq 2 R$, by the right hand side of (3.4). Then $w$ satisfies $w(R)=v(R)$ and, for $R \leq r \leq 2 R$, $w(r) \leq v(r)$,

$$
w^{\prime}(r)=C_{1}\left(\int_{R}^{r} s^{-m} v^{\sigma}(s) d s\right)^{\frac{1}{m-1}} \geq 0
$$

and

$$
\begin{equation*}
\left(\left|w^{\prime}\right|^{m-2} w^{\prime}\right)^{\prime}=C_{1}^{m-1} r^{-m} v^{\sigma} \geq C_{1}^{m-1} r^{-m} w^{\sigma} . \tag{3.5}
\end{equation*}
$$

Multiplying (3.5) by $w^{\prime} \geq 0$ and integrating the resulting inequality on $[R, r]$ ( $R \leq r \leq$ $2 R$ ), we see that

$$
\frac{m-1}{m}\left|w^{\prime}(r)\right|^{m} \geq C_{1}^{m-1} r^{-m} \int_{R}^{r} w^{\sigma}(s) w^{\prime}(s) d s=\frac{C_{1}^{m-1}}{\sigma+1} r^{-m}\left[w^{\sigma+1}(r)-w^{\sigma+1}(R)\right],
$$

which implies

$$
\left[w^{\sigma+1}(r)-w^{\sigma+1}(R)\right]^{-\frac{1}{m}} w^{\prime}(r) \geq C_{2} r^{-1}, \quad R<r<2 R
$$

where $C_{2}=\left(\frac{m C_{1}^{m-1}}{(\sigma+1)(m-1)}\right)^{1 / m}>0$. Integrating over $[R, 2 R]$, we have

$$
\int_{v(R)}^{\infty}\left[s^{\sigma+1}-w^{\sigma+1}(R)\right]^{-\frac{1}{m}} d s \geq \int_{w(R)}^{w(2 R)}\left[s^{\sigma+1}-w^{\sigma+1}(R)\right]^{-\frac{1}{m}} d s \geq C_{2} \log 2
$$

We observe that, by the change of variable $s=w(R) t$,

$$
\begin{equation*}
[v(R)]^{-\frac{\sigma+1-m}{m}} \int_{1}^{\infty}\left(t^{\sigma+1}-1\right)^{-\frac{1}{m}} d t \geq C_{2} \log 2, \quad R \geq R_{0} \tag{3.6}
\end{equation*}
$$

On the other hand, from (3.2) and $\sigma+1-m>0$, we have

$$
\lim _{R \rightarrow \infty}[v(R)]^{-\frac{\sigma+1-m}{m}} \int_{1}^{\infty}\left(t^{\sigma+1}-1\right)^{-\frac{1}{m}} d t=0
$$

which contradicts (3.6). This completes the proof.
REMARK. When $m=2$, Theorem 1 was proved by [2, Theorem 3.1], [3, Theorem 2.1], and [10, Theorem 3.4].
4. Proof of Theorem 2. In this section we assume that $m>N$ and (1.4) holds. Then, there exists a positive constant $c$ such that

$$
p(x) \geq \frac{c}{1+|x|^{N+\frac{\sigma(m-N)}{m-1}}}, \quad x \in \mathbb{R}^{N}
$$

Define a function $q$ by

$$
q(r)=\frac{c}{1+r^{N+\frac{\sigma(m-N)}{m-1}}}, \quad r \geq 0
$$

Then $q$ satisfies (2.2) and there exist constants $C_{0}>0$ and $R_{0}>0$ such that

$$
\begin{equation*}
q(r) \geq C_{0} r^{-N-\frac{\sigma(m-N)}{m-1}}, \quad r \geq R_{0} \tag{4.1}
\end{equation*}
$$

The proof of Theorem 2 is decomposed into several steps.
LEMMA 4.1. Let v be a positive entire solution of (2.1). Then

$$
\begin{equation*}
\lim _{r \rightarrow \infty} \frac{v(r)}{r^{\frac{m-N}{m-1}}}=\infty \tag{4.2}
\end{equation*}
$$

Proof. From (2.4) we observe that, for $r>1$,

$$
\begin{aligned}
v(r) & \geq \int_{1}^{r}\left(s^{1-N} \int_{0}^{1} t^{N-1} q(t) v^{\sigma}(t) d t\right)^{\frac{1}{m-1}} d s \\
& \geq\left(\int_{0}^{1} s^{N-1} q(s) v^{\sigma}(s) d s\right)^{\frac{1}{m-1}} \int_{1}^{r} s^{-\frac{N-1}{m-1}} d s
\end{aligned}
$$

Then, we obtain

$$
\begin{equation*}
v(r) \geq C_{1} r^{\frac{m-N}{m-1}}, \quad r \geq R_{0} \tag{4.3}
\end{equation*}
$$

for some constant $C_{1}>0$. From (2.3), we have

$$
v^{\prime}(r) \geq r^{-\frac{N-1}{m-1}}\left(\int_{R_{0}}^{r} s^{N-1} q(s) v^{\sigma}(s) d s\right)^{\frac{1}{m-1}}, \quad r \geq R_{0}
$$

By virtue of (4.1) and (4.3), we find that

$$
\begin{aligned}
v^{\prime}(r) & \geq\left(C_{0} C_{1}^{\sigma}\right)^{1 /(m-1)} r^{-\frac{N-1}{m-1}}\left(\int_{R_{0}}^{r} s^{-1} d s\right)^{\frac{1}{m-1}} \\
& \geq C_{2} r^{-\frac{N-1}{m-1}}(\log r)^{\frac{1}{m-1}}, \quad r \geq R_{0}
\end{aligned}
$$

for some $C_{2}>0$. This implies that $\lim _{r \rightarrow \infty} v^{\prime}(r) / r^{\frac{N-1}{m-1}}=\infty$. By L'Hôspital's rule, we conclude that (4.2) holds.

LEMMA 4.2. Let $v$ be a positive entire solution of (2.1). Let $w(r)=v(r) / r^{\frac{m-N}{m-1}}$ and $\lambda=\sigma /(m-1)$. Then, for some $C>0$,

$$
\begin{equation*}
w(2 r) \geq C[w(r)]^{\lambda}, \quad r \geq R_{0} \tag{4.4}
\end{equation*}
$$

PROOF. Integrating (2.1) twice over [ $R, r],\left(r>R \geq R_{0}\right)$, we have

$$
v(r) \geq \int_{R}^{r} s^{-\frac{N-1}{m-1}}\left(\int_{R}^{s} t^{N-1} q(t) v^{\sigma}(t) d t\right)^{\frac{1}{m-1}} d s, \quad r>R \geq R_{0}
$$

Putting $r=2 R$ in the above, we obtain

$$
v(2 R) \geq \int_{R}^{2 R} s^{-\frac{N-1}{m-1}}\left(\int_{R}^{s} t^{N-1} q(t) v^{\sigma}(t) d t\right)^{\frac{1}{m-1}} d s, \quad R \geq R_{0}
$$

Since (4.1) holds and $v(r)$ is increasing, it follows that

$$
v(2 R) \geq C_{0}^{1 /(m-1)}[v(R)]^{\frac{\sigma}{m-1}} \int_{R}^{2 R} s^{-\frac{N-1}{m-1}}\left(\int_{R}^{s} t^{-1-\frac{\sigma(m-N)}{m-1}} d t\right)^{\frac{1}{m-1}} d s, \quad R \geq R_{0}
$$

We therefore have

$$
v(2 R) \geq C_{0}^{1 /(m-1)} R^{\frac{m-N}{m-1}\left(1-\frac{\sigma}{m-1}\right)}[v(R)]^{\frac{\sigma}{m-1}} \int_{1}^{2} t^{-\frac{N-1}{m-1}}\left(\int_{1}^{t} \tau^{-1-\frac{\sigma(m-N)}{m-1}} d \tau\right)^{\frac{1}{m-1}} d t
$$

for $R \geq R_{0}$. This implies (4.4) with

$$
C=C_{0}^{1 /(m-1)} \int_{1}^{2} t^{-\frac{N-1}{m-1}}\left(\int_{1}^{t} \tau^{-1-\frac{\sigma(m-N)}{m-1}} d \tau\right)^{\frac{1}{m-1}} d t
$$

LEMMA 4.3. Let $v$ be a positive entire solution of (2.1). Then, for any $k \in N$,

$$
\begin{equation*}
\lim _{r \rightarrow \infty} \frac{v(r)}{r^{k}}=\infty \tag{4.5}
\end{equation*}
$$

Proof. From Lemmas 4.1 and 4.2, we see that $\lim _{r \rightarrow \infty} w(r)=\infty$ and

$$
\begin{equation*}
w(2 r) \geq C[w(r)]^{\lambda}, \quad r \geq R_{0} \tag{4.6}
\end{equation*}
$$

where $w(r)=v(r) / r^{\frac{m-N}{m-1}}$ and $\lambda=\sigma /(m-1)$. Choose $R_{1} \geq R_{0}$ so large that

$$
\begin{equation*}
C^{\frac{1}{-1}} w(r) \geq 2, \quad r \geq R_{1} \tag{4.7}
\end{equation*}
$$

From (4.6) we observe that, for any $\ell \in N$,

$$
\begin{equation*}
w\left(2^{\ell} r\right) \geq C^{1+\lambda+\cdots+\lambda^{\ell}}[w(r)]^{\ell \ell}=C^{-\frac{1}{1-\lambda}}\left[C^{\frac{1}{\lambda-1}} w(r)\right]^{\lambda^{\ell}}, \quad r \geq R_{1} . \tag{4.8}
\end{equation*}
$$

Let $r \geq 2 R_{1}$. Then we can find $\ell=\ell(r) \in N$ and $R_{2} \in\left[R_{1}, 2 R_{1}\right)$ such that $2^{\ell} R_{1} \leq r<$ $2^{\ell+1} R_{1}$ and $r=2^{\ell} R_{2}$. We notice here that

$$
\begin{equation*}
\ell(r) \geq \frac{\log r-\log R_{1}-\log 2}{\log 2} \tag{4.9}
\end{equation*}
$$

From (4.7) and (4.8), we have

$$
w(r)=w\left(2^{\ell(r)} R_{2}\right) \geq C^{-\frac{1}{\lambda-1}}\left[C^{\frac{1}{\lambda-1}} w\left(R_{2}\right)\right]^{\lambda^{\ell}} \geq C^{-\frac{1}{\lambda-1}} H(\ell(r)), \quad r \geq 2 R_{1}
$$

where $H(\alpha)=2^{\lambda^{\alpha}}$. By virtue of (4.9), we easily see that $\lim _{r \rightarrow \infty} H(\ell(r)) / r^{k}=\infty$ for any $k \in N$. Then we have, for any $k \in N$,

$$
\lim _{r \rightarrow \infty} \frac{w(r)}{r^{k}}=\infty
$$

Thus we obtain (4.5).

Proof of Theorem 2. Suppose to the contrary that inequality (1.1) admits a positive entire solution $u$. Then, by Lemma 2.1, there exists a positive entire solution $v$ of (2.1). We note that $v$ satisfies

$$
\begin{equation*}
\left(r^{N-1}\left|v^{\prime}\right|^{m-2} v^{\prime}\right)^{\prime}=r^{N-1}\left(q(r)[v(r)]^{\frac{\sigma-m+1}{2}}\right) v^{\frac{\sigma+m-1}{2}}, \quad r>0 \tag{4.10}
\end{equation*}
$$

From (4.1) and Lemma 4.3, we observe that

$$
\begin{equation*}
\lim _{r \rightarrow \infty} r^{m}\left(q(r)[v(r)]^{\frac{\sigma-m+1}{2}}\right)=\infty \tag{4.11}
\end{equation*}
$$

Since $(\sigma+m-1) / 2>m-1$, by virtue of Theorem 1 we can show that (4.10) has no positive entire solutions. Thus, we have a contradiction. This completes the proof of Theorem 2.
5. Proof of Theorem 3. Only a sketch of the proof of Theorem 3 is given here, since a parallel argument to that of Theorem 2 is valid.

Assume that $m=N$ and (1.5) holds. Then, there exists a positive constant $c$ such that

$$
p(x) \geq \frac{c}{1+|x|^{m}(\log (1+|x|))^{\sigma+1}}, \quad x \in \mathbb{R}^{N}
$$

Put

$$
q(r)=\frac{c}{1+r^{m}(\log (1+r))^{\sigma+1}}, \quad r \geq 0
$$

We then show that $q$ satisfies (2.2) and there exist constants $C_{0}>0$ and $R_{0}>0$ such that

$$
\begin{equation*}
q(r) \geq C_{0} r^{-m}(\log r)^{-\sigma-1}, \quad r \geq R_{0} . \tag{5.1}
\end{equation*}
$$

LEMMA 5.1. Let v be a positive entire solution of (2.1). Then

$$
\begin{equation*}
\lim _{r \rightarrow \infty} \frac{v(r)}{\log r}=\infty \tag{5.2}
\end{equation*}
$$

Proof. From (2.4) we observe that, for $r>1$,

$$
v(r) \geq \int_{1}^{r}\left(s^{1-m} \int_{0}^{1} t^{m-1} q(t) v^{\sigma}(t) d t\right)^{\frac{1}{m-1}} d s \geq\left(\int_{0}^{1} s^{m-1} q(s) v^{\sigma}(s) d s\right)^{\frac{1}{m-1}} \int_{1}^{r} s^{-1} d s
$$

Then, we obtain

$$
\begin{equation*}
v(r) \geq C_{1} \log r, \quad r \geq R_{0}, \tag{5.3}
\end{equation*}
$$

for some constant $C_{1}>0$. From (2.3), we have

$$
v^{\prime}(r) \geq r^{-1}\left(\int_{R_{0}}^{r} s^{N-1} q(s) v^{\sigma}(s) d s\right)^{\frac{1}{m-1}}, \quad r>R_{0}
$$

By virtue of (5.1) and (5.3), we find that

$$
\begin{aligned}
v^{\prime}(r) & \geq\left(C_{0} C_{1}^{\sigma}\right)^{1 /(m-1)} r^{-1}\left(\int_{R_{0}}^{r} s^{-1}(\log s)^{-1} d s\right)^{\frac{1}{m-1}} \\
& \geq C_{2} r^{-1}(\log (\log r))^{\frac{1}{m-1}}, \quad r \geq R_{0}
\end{aligned}
$$

for some $C_{2}>0$. This implies that $\lim _{r \rightarrow \infty} r v^{\prime}(r)=\infty$. By L'Hôspital's rule, we conclude that (5.2) holds.

Lemma 5.2. Let $v$ be a positive entire solution of (2.1). Let $w(r)=v(r) / \log r$ and $\lambda=\sigma /(m-1)$. Then, for some $C>0$,

$$
\begin{equation*}
w\left(r^{2}\right) \geq C[w(r)]^{\lambda}, \quad r \geq R_{0} \tag{5.4}
\end{equation*}
$$

PROOF. Integrating (2.1) twice over $[R, r],\left(r>R \geq R_{0}\right)$, we have

$$
v(r) \geq \int_{R}^{r} s^{-1}\left(\int_{R}^{s} t^{m-1} q(t) v^{\sigma}(t) d t\right)^{\frac{1}{m-1}} d s, \quad r>R \geq R_{0}
$$

Putting $r=R^{2}$ in the above, we obtain

$$
v\left(R^{2}\right) \geq \int_{R}^{R^{2}} s^{-1}\left(\int_{R}^{s} t^{m-1} q(t) v^{\sigma}(t) d t\right)^{\frac{1}{m-1}} d s, \quad R \geq R_{0}
$$

Since (5.1) holds and $v(r)$ is increasing, it follows that

$$
v\left(R^{2}\right) \geq C_{0}^{1 /(m-1)}[v(R)]^{\frac{\sigma}{m-1}} \int_{R}^{R^{2}} s^{-1}\left(\int_{R}^{s} t^{-1}(\log t)^{-\sigma-1} d t\right)^{\frac{1}{m-1}} d s, \quad R \geq R_{0}
$$

and hence, we obtain

$$
v\left(R^{2}\right) \geq C_{0}^{1 /(m-1)}(\log R)^{-\frac{\sigma}{m-1}+1}[v(R)]^{\frac{\sigma}{m-1}} \int_{1}^{2}\left(\int_{1}^{t} \tau^{-\sigma-1} d \tau\right)^{\frac{1}{m-1}} d t, \quad R \geq R_{0}
$$

This implies (5.5) with

$$
C=\frac{1}{2} C_{0}^{1 /(m-1)} \int_{1}^{2}\left(\int_{1}^{t} \tau^{-\sigma-1} d \tau\right)^{\frac{1}{m-1}} d t
$$

LEMMA 5.3. Let $v$ be a positive entire solution of (2.1). Then, for any $k \in N$,

$$
\begin{equation*}
\lim _{r \rightarrow \infty} \frac{v(r)}{(\log r)^{k}}=\infty \tag{5.5}
\end{equation*}
$$

PROOF. Let $w(r)=v(r) / \log r$ and

$$
z(s)=w(r), \quad s=\log r .
$$

Then, from Lemmas 5.1 and 5.2, we see that $\lim _{s \rightarrow \infty} z(s)=\infty$ and

$$
\begin{equation*}
z(2 s) \geq C[z(s)]^{\lambda}, \quad s \geq S_{0} \tag{5.6}
\end{equation*}
$$

where $S_{0}=\log R_{0}$. Hence exactly as in the proof of Theorem 2 , we can show that

$$
\lim _{s \rightarrow \infty} \frac{z(s)}{s^{k}}=\infty
$$

for any $k \in N$, which implies

$$
\lim _{r \rightarrow \infty} \frac{w(r)}{(\log r)^{k}}=\infty
$$

Thus we obtain (5.5).
The final stage of the proof of Theorem 3 is the same as that of Theorem 2. So we leave the proof to the reader.

## References

1. P. Aviles and A. Weitsman, On the singularities of certain nonlinear partial differential equations, Ann. Acad. Sci. Fenn. Ser. A I Math. 7(1982), 147-152.
2. R. D. Benguria, S. Lorca and C. S. Yarur, Nonexistence results for solutions of semilinear elliptic equations, Duke Math. J. 74(1994), 615-634.
3. K.-S. Cheng and J.-T. Lin, On the elliptic equations $\Delta u=K(x) u^{\sigma}$ and $\Delta u=K(x) e^{2 u}$, Trans. Amer. Math. Soc. 304(1987), 639-668.
4. Y. Furusho, T. Kusano and A. Ogata, Symmetric positive entire solutions of second order quasilinear degenerate elliptic equations, Arch. Rational Mech. Anal. 127(1994), 231-254.
5. N. Kawano, E. Yanagida and S. Yotsutani, Structure theorems for positive radial solutions to $\operatorname{div}\left(|D u|^{m-2} D u\right)+K(|x|) u^{q}=0$ in $\mathbb{R}^{N}$, J. Math. Soc. Japan 45(1993), 719-742.
6. J. B. Keller, On solutions of $\Delta u=f(u)$, Comm. Pure Appl. Math. 10(1957), 503-510.
7. T. Kusano and A. Ogata, Existence and asymptotic behavior of positive solutions of second order quasilinear differential equations, Funkcial. Ekvac. 37(1994), 345-361.
8. T. Kusano, A. Ogata and H. Usami, Oscillation theory for a class of second order ordinary differential equations with application to partial differential equations, Japan. J. Math. 19(1993), 131-147.
9. T. Kusano and C. A. Swanson, Radial entire solutions of a class of quasilinear elliptic equations, J. Differential Equations, 83(1990), 379-399.
10. F.-H. Lin, On the elliptic equation $D_{i}\left[a_{i j}(x) D_{j} u\right]-k(x) u+K(x) u^{p}=0$, Proc. Amer. Math. Soc. $95(1985)$, 365-370.
11. Y. Naito and H. Usami, Entire solutions of the inequality $\operatorname{div}(A(|D u|) D u) \geq f(u)$, Math. Z., to appear.
12. W.-M. Ni and J. Serrin, Existence and non-existence theorems for ground states for quasilinear partial differential equations, Atti Convegni Lincei 77(1985), 231-257.
13. R. Osserman, On the inequality $\Delta u \geq f(u)$, Pacific J. Math. 7(1957), 1641-1647.
14. P. Pucci and J. Serrin, Continuation and limit properties for solutions of strongly nonlinear second order differential equations, Asymptotic Anal. 4(1991), 97-160.
15. P. Tolksdorf, On the Dirichlet problem for quasilinear equations in domains with conical boundary points, Comm. Partial Differential Equations 8(1983), 773-817.
16. H. Usami, Nonexistence results of entire solutions for superlinear elliptic inequalities, J. Math. Anal. Appl. 164(1992), 59-82.

Department of Applied Mathematics
Faculty of Engineering
Kobe University
Nada, Kobe 657
Japan

Department of Mathematics
Faculty of Integrated Arts and Sciences
Hiroshima University
Higashi-Hiroshima 739
Japan


[^0]:    Received by the editors January 4, 1996.
    AMS subject classification: 35J70, 35B05.
    (C)Canadian Mathematical Society 1997.

